Total number of printed pages-11
63/1 (SEM-6) DSE1B/HISRE6026

20249

HISTORY
Paper : HISRE6026
[ Patterns of Colonialism (15th-19th Century)]
Full Marks : 80
Pass Marks : 32
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

1. Choose the correct answer: (any six)
1x6=6

o7 Tews! A et o (Reerear =)

(a) Which of the following Treaties ended
the 2nd Opium War ?

O (A pfes ol ROl Wit 3@ wnRf
tefeE e
(i) Nanking

RN
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(i) Tienjin

Bafer

(i) Peking
iR

(iv) Canton

6

(b) The ) French terl'itb
to an end in

) 1793
%459
(i) 1801 
oy
(iv) 1947

29814
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(c) French informal empire in Africa was
known as

RS TR DI AT T I
(i) Frenchis
e
(i) Francafrique
R
(iii) Francian
FiFmE
(iv) New France
o1 T

(d) Christopher Columbus discovered
America in

TorR T SR SiReR FREE
i) 1491
5885
(i) 1498
S8
(iii) 1496
S8dY
(iv) 1492
8B
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fe) Who dis
cover:
Europe ? ed sea route to India from

RfReT? RO I TgEsia e

() Ferdinand Megellan
. P (e
(i) Sir Francis Dr ake
ARG
(@) Vasco da Gama
Sy
(lv) JOhn CabOt
G (B

() By which of

the f .
Anglo- France riValr; lil°‘}’m$ Treaties
an end ? n India came to

() The Treaty of Parj
CIR6 pis )
(i) Tordesillas Treaty
vos 5%
(it} Treaty of Versailles
st pfe
(iv) Treaty of Yandabo
e 3
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(g9 Which of the following European
nations first established trade in India ?

S (T TR AI5R TS sielew ey

AfeRt aiRfEe?

(i) Portugal
Licgll

(i) England
RS

(iijj France
FH

(iv) Nederlands
TTIRCETS

() The policy adopted by the European
countries from AD 1492-AD 1763 is

known as
853 T ARl SAve Geital ROCITA (PITIR
ot 391 SARTEAIE Tl I
(i) Colonialism
- AREPRRm
(i) Socialism
AR
(iii) Mercantilism
Jtfderam
(iv) Marxism

WA
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(i) In which
year G
Portuguese ? 0a was occupied by the

N e
() 1503 BT Ot 4 e
Seoyw
(i) 1601
Yoy
(i) 1510
S&do
(iv) 1498
S85b

(” In whi
ich year Briti
rit
Company was fol‘medl?sh East India

(P 57®
i) 160?)-%5@3%?” Gt =197 Tafeere
Yoo
(i) 1806
Ybroy
(iii) 1498
S85b
(iv) 1757
dqe¢q
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2.

Answer the following questions : (any Jfive)
2x5=10

wmwﬁm(ﬁmm%ﬁ)

(a) What do you mean by Era of Free
Trade ?

o e 31 FFe e
(b) Write the names of any two places
where the British East India Company

set up factories in India.

W@qﬁa@ﬁ%mmmwm
% e ot A R

(c) Write the names of a
Colonies in Africa.

WWWW@WWWI

Mention any two provisions of the
Treaty of Nanking.

AR pfER R 751 76 T =
(e) Write any two causes responsible for
the Second Opium War.
S SRR T& TRIAVS RE wite R 75!
R foral

() Write any two differences between
imperialism and colonialism.

AEETAT SR TANCRIR FE© R g0
siiefay Bl
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. two :
failure of the Fren Chief causes of the

in India. ¢h to build an empire

Wﬁ%m
fora 1% S v
Eﬁfﬁiﬁa m‘.fww' qu@‘gna

mbbogmm
ﬂﬁs&mm,.

(b) GiVe a Vi ew o f
effects of colo

T & R estre

tl:le pOSitiVe and n
nialism,

( )

1s a turnin . .
g€ point in Amerj
rican histo
ry ?

CTT TR
vt
mﬁmﬁwmgf"mi@aﬁm
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(d) What were the motives which im
the European nations from 15t century

(e)

(9)

)

@)

onwards t

pelled

o embark on a career of
overseas expansion ?

ﬁﬁuﬁmﬂamﬁ@asﬁm%w

m*trrﬁ%ﬁﬂal@ﬁamwﬁ@ﬂﬁ
mﬁ«qﬁmmﬁcﬂ%?

Give an overview of Spain possession
on Central America.

T R TR SR SoIS SR
ol

Write a note about opium trade in
China.

S iR TR eoms «fb R o
Why was Boer War fought ?

R & R wele e

Did Industrial Revolution help in the
growth of colonialism ? How do you

think ?

ol e SRR Rewe Sk
ciEfETm o e SR

Why was the Treaty of Tordesillas
signed ?

Soies pfe R arele e
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How was Canada colonized by France ?

T R PIAIGIS w1 afod) wRfes

Answer the following questions : (any two)

10x2=20

TS P O it ¢ (R w)

(@ What were the main causes of success

()

()

(@)

of the English East India Company in
establishing an empire in India ?

OReRC =T efedre 38 SRy I
TP A4 PRI [ B oty e

Why were the sea discoveries initiated
by Portugal and Spain ?

AP i > R R et simyfes e
Aol SRR ?

Discuss about the adve
in India.

Wﬁm%wwwﬁmmm
|

Discuss about the different phases of
colonialism. How did it impact the
economy of the domain country ?

TR Rfen TP R wiceiiea < |
TS (PR S1ISS 3 R o R e 2

nt of Europeans
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S.

: ions : (any one)
Answer the following question (14x 1=14

o ensprp B foa 3 (R )al pire
' ' informal em
- essay on the In
@ ;Ylnttli:emlgth Century Africa. |

s PR ST ST ©

ferat
Q2 o cumstances that led to

Tate e och 1 i dia.
@ 1t\lhae‘:rrAart;lo-French rivalry in South In

o AR e TS o e

the outbreak

the causes.for

@ Wflrlatll)flzv e11::',eoxer Uprising ? State the
o)

consequences of it.

<13 R S A PR R e ¢
2R PR S

470
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